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For #1 — 4, solve each system of equations by using the method of vour choice.
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For #5 — 7, write the form of the partial fraction decomposition for each rational expression. Do not solve

for the constants.
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For #8 — 10, write the partial fraction decomposition of each rational expression.
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12} Solve by any method of your choice: {Zx i, iz i
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For #13 — 16, graph each solutwn set of the system of inequalities, or indicate that there is no solution.
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17} Graph the sysiem ol inequalities on the provided coordinale system.
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For #18 — 20, solve problem by using a system of equations. —2 i ' o 1
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18) A system for tracking ships indicated that a ship lies on a hyperbolic path described by 5x% — y? = 20.
The process is repeated, and the ships is ¢ d to lic on the hyperbolic path described by y? — 2x% = 7. It
is known that the ship is located in thgfirst quadrapt of the coordinate system. 'ind the coordinates of its exact
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19} The sum of two numbers is —7, and their product is —144. Find the two numbers.
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20) The sum of the squares of two numbers is 37. The sum of the two numbers is —5. Find the two numbers.
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For #21 — 23, solve each problem by using a system of equations.
21} Find the dimensions of a rectangle with perimeter of 42 £t and arca of 90 f£2.
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21} Find the dimensions of a rectangle with perimeter of 42 £t and arca of 90 f£2,
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22) In a chemistry class, 9 liters ol a 4% silver iedide solution must be mixed with a 10% solution to get a 6%
solution. How many liters of the 10% solution are needed?
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23} A chemist needs 170 milliliters of a 27% solution but only has 17% and 51% solutions available. How
many milliliters of each should be mixed to obtain the desired Solution‘m l,

~ (10 )
O X+y
@ x4 ’Sl_‘j = .27(\70)

120 m2 - V7%
.--.\"" ® _'1 X — -\jj o _23»‘1 g),nn_a 0\_ SIOI)SV'.

@ - 'l e + .glj = Lfga"l

03({3 - l'-\-

v i
S X120

Ch 7 Review WKk continued on next page...

24y Bottled water and medical supplics arc to be shipped to survivors of an carthquake by planc. Lach
container of water bottles will serve 10 people, and cach medical kit will aid 6 people. Lach planc can carry no
more than 80,000 pounds. The bottled water weighs 20 pounds per container, and cach medical kit weighs 10
pounds. Fach plane can carry a total volume of supplies that does not exceed 6000 ft>. Fach water bottle is 1
Ft*, as is each medical kit. Determine how many bottles of water and how many medical kits should be sent
on each plane to maximize the number of earthquake survivors who can be helped.
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;Ft3, as is cach medical kit. Determine how many_l:;ottlcs of water and how many medical kits should be sent
on each plane to maximize the nunber of earthquake survivors who can be helped.

Lelx = -‘*bﬂw %‘ U'b“"- luwu-.E
Lety = % med %

BN

Objective Function: 10x = bij

Constraints:

volune - x + 5 é 000~ 35—):%0%
20 y=o

Solution:

e o
2000 wﬁ o ] | | |
& U\w 3 3

£ 000 E000 10 000

(o ']an)o, 0)

| lox 4
oo | O

(.O ,(oom\ B(p)OOD
—Z{o, 000

@{ooo,o\
(200 Hooo)

Ly, 000 & mo.X

Ch 7 Rev Wk answers are on the next page.



Ch 7 Review Worksheet Answers:
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24) Solution:

Let x = # of water bottles
Let y = # of medical kits

Objective Function: 10x + 6y

Constraints:

20x + 10y < 80000
x +y < 6000

x=>0

y=0

Solution: (test all 4 vertices)
2000 water bottles and
4000 medical kids

20) (—6,1) or (1,—6) 21) (6,15) or (15, 6)
22) 4.5 liters of 10% solution

23) 120 ml of 17% solution; 50 ml of 51% solution

y

A
10000 4

Point of Intersection
(2000,4000)

4000 =+

2000 ==

T T T T
2000 4000 6000 8000

[ -

10 000



